1.)
Counter 0 will generate a continuous pulse train.  However, it will use gating to make it finite.  So we need to use the following settings for the “ctr cont pulse” task.
a.)
Channel List

1.)
Counter >> Counter 0

b.)
Task Timing


Timing

1.)
Initial Delay >>  1

2.)
Pulse Interval (High Time) >>  Number of Ticks High For Counter 0 - 1
3.)
Pulse Width (Low Time) >>  Number of Ticks Low For Counter 0 - 1
Source Specifications
1.)
G_In_Timebase1 (20 MHz Timebase)



Or G_In_Timebase2 (100 KHz Timebase)

2.)
Rising Edge

Gate Parameters


1.)
G_TC_other


2.)
Rising Edge


c.)
Advanced



Continuous Pulse train



1.)
Enabled



Gate Mode Parameters

1.) Reload Source Switching >>  Use Same Register

2.) Gating Mode >>  Level

3.) Trigger Mode for Edge Gate >>  Always Start

4.) Gate On Both Edges >>  Disabled

5.) Loading on Gate >> No

Please note that the (Number of Ticks) *  (1 / Timebase) = High/Low Time

2.)
Counter 1 will gate counter 0.  We need to configure a single pulse to do so.  Use the following configuration for “ctr single pulse”
a.)
Channel List

1.)
Counter >> Counter 1

b.)
Task Timing


Timing

1.)
Initial Delay >>  1

2.)
Pulse Interval (High Time) >>  Number of Ticks High

3.)
Pulse Width (Low Time) >>  1

Source Specifications

1.)
G_In_Timebase1 (20 MHz Timebase)



Or G_In_Timebase2 (100 KHz Timebase)

2.)
Rising Edge

Gate Parameters


1.)
Logic_Low


2.)
Falling Edge


c.)
Advanced



Continuous Pulse train




1.)
Disabled



Gate Mode Parameters

6.) Reload Source Switching >>  Use Same Register

7.) Gating Mode >>  Disabled

8.) Trigger Mode for Edge Gate >>  Always Start

9.) Gate On Both Edges >>  Disabled

10.) Loading on Gate >> No

Please note that Number of Ticks High = ((Number of Ticks High For Counter 0 + Number of Ticks Low For Counter 0) * Number of Pulses to Generate)
